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Presupposition

® Input and output words will not be separated or permutated

e Operationsinclude only +, -, *, if-else, ==, >, <
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Output Function Assumption

Take a three input netlist for example:

F=S5-{ab,c ab,bc, ca a? b? c? abc,a3 b3, c3}+ constant

S is a vector whose elements take on values of {—1,0, 1}
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Find Control Signal
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Find Control Logic
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Generate RTL and Write File
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Automation

>> execute .exe

>> input filename

— Get verilog file




e redcon it ity
Results o

02 96.5517 2.147
03 99.0415 2:201

expected final score: 800 04 99.862 64.928
05 2.7907 0.355

module top ini1, in2, in3, outl);
re [18:0] in1; 06 99.9395 4.51

re [18.91 in2; 07 99.7540 0.719

[18:0] in3; 08 12.7967 20.111
[19:0] outi;

: - - : 09 40.4 6.639
on outl = 1n1 + in2 + 1n3 + 102;

oo 10 99.7743 4.915

il 99.8329 4.38
module Lop (in1, in2, in3, outl); 12 41.614 11.756
ny re [31:0] ini; 13 20.623 0.057
[31:0] in2; 14 0 2.300

[l s 15 42.6182 1.73

64101 ‘outt; 16 20.2497 1.322

outl = in2 + in3 + inl * in1; - .

}endmodulel 17 11.4073 0.066
18 15.625 0.343

19 54.1646 0.179

20 18.8586 0.831



Future Prospects

Problem: Space Complexity blows up when # inputs increases
outl = (inl + in2 + in3) + (in4 + in5 + in6) + (in7 + in8 + in9)

In1,in2,in3 Issue: The port might
have different order
In4,in5, in6 i outl

v

In7l nSX\J

{-} indicates the possible transitive fanin that a gate can possess




